CONVEXITY, SCHUR-CONVEXITY AND BOUNDS FOR THE GAMMA FUNCTION INVOLVING THE DIGAMMA FUNCTION

MILAN MERKLE

ABSTRACT. We consider inequalities for the ratio $\Gamma(x +$ $(\beta)/\Gamma(x)$, with bounds expressed in terms of the digamma function or its derivatives. We show that this type of inequalities naturally arises from convexity or Schur-convexity of some functions. As a result, we re-derive, generalize or improve several inequalities due to Gautschi, Kershaw and Alzer. Also we present some new inequalities of the type introduced by Gurland.

1. Introduction. Many authors investigated inequalities for the ratio

(1)
$$Q(x,\beta) = \frac{\Gamma(x+\beta)}{\Gamma(x)}, \quad x > 0, \beta > 0,$$

see the bibliography in [2]. In this paper we consider the bounds for (1) that involve the digamma function $\Psi = \Gamma'/\Gamma$ or its derivatives.

The first result in this area is due to Gautschi [5]:

(2)
$$Q(x,\beta) < \exp(\beta \Psi(x+\beta)), \quad 0 < \beta < 1, x > 0.$$

Kershaw [9] improves and complements Gautschi's bound to

$$(3) \quad \exp(\beta \Psi(x+\beta-1+\sqrt{1-\beta})) < Q(x,\beta) < \exp(\beta \Psi(x+\beta/2)),$$

Copyright ©1998 Rocky Mountain Mathematics Consortium

Received by the editors on May 27, 1996, and in revised form on October 30,

<sup>1996.
1991</sup> AMS Mathematics Subject Classification. Primary 33A15, 26D20.
Key words and phrases. Gamma function, digamma function, convexity, loga-

rithmic convexity, Schur convexity, inequalities.

This research was supported by Science Fund of Serbia, grant number 04M03E, through Mathematical Institute, Belgrade.

for $0 < \beta < 1$ and $x - 1 + \beta > 0$. These inequalities were also investigated in [3]. Further, a result of Alzer [2] reads

$$\frac{(x+\beta)^{x+\beta-1/2}}{x^{x-1/2}} \exp\left(-\beta + \frac{1}{12}(\Psi'(x+\beta) - \Psi'(x))\right)
< Q(x,\beta) < \frac{(x+\beta)^{x+\beta-1/2}}{x^{x-1/2}}
\cdot \exp\left(-\beta + \frac{1}{12}(\Psi'(x+\beta+a) - \Psi'(x+a))\right),$$

for $\beta \in (0,1)$, $x - 1 + \beta > 0$ and $a \ge 1/2$.

As we shall show in the subsequent sections, inequalities of this type can be obtained as a natural consequence of convexity of Schurconvexity of certain functions. This approach outlines a general method of producing and sharpening the inequalities of mentioned type. In [11], we applied a similar method based on convexity for obtaining bounds for Q in terms of elementary functions.

2. Convexity and bounds for the ratio Q. The results in this section are based on the following key theorem.

Theorem 1. For a > 0, let

(5)
$$F_a(x) = \log \Gamma(x) - \left(x - \frac{1}{2}\right) \log x - \frac{1}{12} \Psi'(x+a).$$

Then

- (i) the function $x \mapsto F_0(x)$ is strictly concave on x > 0.
- (ii) For $a \geq 1/2$, the function $x \mapsto F_a(x)$ is strictly convex on x > 0.

Proof. Using the expressions for the second derivative of the function

 $x \mapsto \log \Gamma(x)$ (see [1], for example), we get

$$F_a''(x) = \sum_{k=0}^{+\infty} \frac{1}{(x+k)^2} - \frac{1}{x} - \frac{1}{2x^2} - \sum_{k=0}^{+\infty} \frac{1}{2(x+k+a)^4}$$

$$= \sum_{k=0}^{+\infty} \left(\frac{1}{(x+k)^2} - \frac{1}{x+k} + \frac{1}{x+k+1} - \frac{1}{2(x+k)^2} + \frac{1}{2(x+k+1)^2} - \frac{1}{2(x+k+a)^4} \right)$$

$$= \sum_{k=0}^{+\infty} \left(\frac{1}{2(x+k)^2(x+k+1)^2} - \frac{1}{2(x+k+a)^4} \right).$$

Now from $(x+k)^2(x+k+1)^2 > (x+k)^4$ for x>0 and $k\geq 0$, it follows that $F_0''(x)<0$ for x>0 and (i) is proved. To prove (ii), note that by log-concavity of the function $x\mapsto (x+k)^2$,

$$(x+k)^2(x+k+1)^2 < (x+k+1/2)^4, \quad x > 0, k \ge 0,$$

and therefore $F_a''(x) \ge F_{1/2}''(x) > 0$ for $a \ge 1/2$.

We will now show that both inequalities in (4) can be derived from Theorem 1, with an expanded domain.

Corollary 1. Inequalities (4) hold for x > 0, $\beta > 0$ and $a \ge 1/2$.

Proof. Firstly we note that, for each a > 0.

$$F'_a(x) = \Psi(x) - \log x + \frac{1}{2x} - 1 - \frac{1}{12}\Psi''(x+a)$$

and, using the asymptotic formula for Ψ and the expression for Ψ'' [1, Chapter 6], we find that

$$\lim_{x \to +\infty} F_a'(x) = -1.$$

By concavity of F_0 , its first derivative is a decreasing function on $(0, +\infty)$ and so,

$$F_0'(x) > \lim_{x \to +\infty} F_0'(x) = 1, \quad x > 0.$$

By the mean value theorem,

$$\frac{F_0(x+\beta) - F_0(x)}{\beta} > -1, \quad x > 0, \ \beta > 0,$$

which is equivalent to the left inequality in (4).

Similarly, by convexity of F_a for $a \ge 1/2$ and the mean value theorem, we have that

$$\frac{F_a(x+\beta) - F_a(x)}{\beta} < -1, \quad x > 0, \beta > 0, a \ge 1/2,$$

which is the right inequality in (4).

In the above proof we used only the fact that $F'_a(x)$ has an extremum at $x = +\infty$. Using Jensen's inequality for convex or concave functions, we can obtain new bounds as in the next corollary.

Corollary 2. Let

$$A(x,\beta) = \frac{(x-1+\beta)^{\beta(x+\beta-1/2)}(x+\beta)^{(1-\beta)(x+\beta-1/2)}}{x^{x-1/2}},$$

$$B(x,\beta) = \frac{(x+\beta)^{x+\beta-1/2}}{(x+1)^{\beta(x+1/2)}x^{(1-\beta)(x-1/2)-\beta}}.$$

Let $\beta \in (0,1)$ and $a \geq 1/2$. Then, for $x > 1 - \beta$, we have

(6)
$$A(x,\beta) \exp\left(\frac{1}{12}(\beta \Psi'(x+a-1+\beta) + (1-\beta)\Psi'(x+a+\beta) - \Psi'(x+a))\right) < Q(x,\beta)$$
$$< A(x,\beta) \exp\left(\frac{1}{12}(\beta \Psi'(x-1+\beta) + (1-\beta)\Psi'(x+\beta) - \Psi'(x))\right).$$

Further, for any x > 0, we have

$$B(x,\beta) \exp\left(\frac{1}{12}(\Psi'(x+\beta) - (1-\beta)\Psi'(x) - \beta\Psi'(x+1))\right)$$

$$< Q(x,\beta)$$

$$< B(x,\beta) \exp\left(\frac{1}{12}(\Psi'(x+a+\beta) - (1-\beta)\Psi'(x+a) - \beta\Psi'(x+a+1))\right).$$

For $\beta > 1$ all four inequalities hold for all x > 0, with < and > interchanged.

Proof. Let $\beta \in (0,1)$ and $x > 1 - \beta$. Starting from

(8)
$$x = \beta(x - 1 + \beta) + (1 - \beta)(x + \beta),$$

and applying Jensen's inequality with the convex function F_a , $a \ge 1/2$, we find that

(9)
$$F_a(x) < \beta F_a(x - 1 + \beta) + (1 - \beta) F_a(x + \beta).$$

The left inequality in (6) now follows from (9), (5) and the recurrence relation $\Gamma(x-1+\beta) = \Gamma(x+\beta)/(x-1+\beta)$. The right inequality in (6) is obtained in the same way with the concave function F_0 . Inequalities in (7) can be derived similarly, replacing (8) with

(10)
$$x + \beta = (1 - \beta)x + \beta(x + 1),$$

where now it suffices to assume that x > 0.

If $\beta > 1$, then we start from

$$x - 1 + \beta = \frac{1}{\beta}x + \frac{\beta - 1}{\beta}(x + \beta), \quad x > 0$$

and, applying Jensen's inequality with F_a , we get

$$F_a(x) > \beta F_a(x-1+\beta) + (1-\beta)F_a(x+\beta),$$

which leads to the opposite left inequality in (6). Other inequalities can be similarly dealt with. \Box

Theorem 2 (Comparison of inequalities). For x > 0 and $\beta \in (0,1)$, each inequality in (7) is sharper than the corresponding inequality in (4).

Proof. The lower bound in (7) is greater than the lower bound in (4) if and only if

$$\left(\frac{x}{x+1}\right)^{\beta(x+1/2)} \exp\left(\beta\left(\frac{1}{12}(\Psi'(x)-\Psi'(x+1))+1\right)\right) > 1,$$

which is, by $\Psi'(x) - \Psi'(x+1) = 1/x^2$, equivalent to

(11)
$$\left(1 + \frac{1}{x}\right)^{x+1/2} < e^{1+1/(12x^2)}.$$

Let

$$f(x) = \left(x + \frac{1}{2}\right) \log\left(1 + \frac{1}{x}\right) - 1 - \frac{1}{12x^2}.$$

Then we have that

$$\lim_{x \to +\infty} f(x) = 0, \qquad \lim_{x \to +\infty} f'(x) = 0,$$

$$f''(x) = -\frac{2x+1}{2x^4(x+1)^2} < 0 \quad \text{for } x > 0,$$

and therefore f'(x) < 0 and finally f(x) < 0 for all x > 0, which proves (11).

The upper bound in (7) is smaller than the upper bound in (4) if and only if

(12)
$$\left(1 + \frac{1}{x}\right)^{x+1/2} > e^{1+1/(12(x+a)^2)}.$$

Obviously, it suffices to prove (12) for a=1/2. If we define

$$g(x) = \left(x + \frac{1}{2}\right) \log\left(1 + \frac{1}{x}\right) - 1 - \frac{1}{12(x + 1/2)^2},$$

we have that $\lim_{x\to+\infty} g(x) = 0$, $\lim_{x\to+\infty} g'(x) = 0$ and

$$g''(x) = \frac{8x^2 + 8x + 1}{2x^2(x+1)^2(2x+1)^4} > 0 \quad \text{for } x > 0,$$

and we conclude that g(x) > 0 for all x > 0, which was to be proved.

In passing, let us note that the double inequality

$$e^{1+1/(12(x+1/2)^2)} < \left(1 + \frac{1}{x}\right)^{x+1/2} < e^{1+1/(12x^2)}, \quad x > 0,$$

is an improvement of a result in [12, Section 3.63].

Numerical results show that, for $x > 1 - \beta$, bounds in (6) are not comparable with bounds in (4).

An advantage of inequalities based on convexity is that they can be infinitely sharpened, making so a basis for Euler-like products. This can be done with all inequalities of Corollary 2, following the pattern indicated in the next theorem.

Theorem 3. Let $A(x,\beta)$ be as defined in Corollary 2. Then, for any x > 0, $\beta \in (0,1)$ and n = 1, 2, ...,

$$Q(x,\beta) < \frac{x(x+1)\cdots(x+n-1)A(x+n,\beta)}{(x+\beta)(x+\beta+1)\cdots(x+\beta+n-1)}$$
(13)
$$\exp\left(\frac{1}{12}(\beta\Psi'(x+n-1+\beta) + (1-\beta)\Psi'(x+n+\beta) - \Psi'(x+n))\right).$$

The absolute and relative error in (13) converges to zero as $n \to +\infty$.

Proof. For any $x > 0, \beta \in (0,1)$ and $n = 1, 2, \ldots$, we have that

$$x + n = \beta(x + n - 1 + \beta) + (1 - \beta)(x + n + \beta).$$

An application of Jensen's inequality with the concave function F_0 yields

(14)
$$F_0(x+n) > \beta F_0(x+n-1+\beta) + (1-\beta)F_0(x+n+\beta).$$

Considering the difference between the right and left side in (14), we find that

$$r_{n} = F_{0}(x+n) - \beta F_{0}(x+n-1+\beta)$$

$$- (1-\beta)F_{0}(x+n+\beta)$$

$$= \beta (F_{0}(x+n) - F_{0}(x+n-1+\beta))$$

$$+ (1-\beta)(F_{0}(x+n) - F_{0}(x+n+\beta))$$

$$= \beta (1-\beta)F'_{0}(c_{1}) - \beta (1-\beta)F'_{0}(c_{2})$$

$$= \beta (1-\beta)(F'_{0}(c_{1}) - F'_{0}(c_{2}))$$

$$= \beta (1-\beta)(c_{1}-c_{2})F''_{0}(c),$$

where, by the mean value theorem, $c_1 \in (x + n - 1 + \beta, x + n)$, $c_2 \in (x + n, x + n + \beta)$ and $c \in (c_1, c_2)$. Since $|c_1 - c_2| < 1$, we have that $r_n \leq \beta(1 - \beta)|F_0''(c)|$. It is not difficult to see that the function $x \mapsto |F_0''(x)|$ is decreasing and $\lim_{x\to+\infty} F_0''(x) = 0$. Therefore,

(15)
$$0 < r_n \le \beta (1 - \beta) |F_0''(x + n - 1 + \beta)| \longrightarrow 0$$
as $n \to +\infty$.

Now the inequality (13) can be obtained from (14) after successive applications of the recurrence relation for the gamma function. For a pair (x, β) being fixed, let R_n denote the righthand side of (13). Then $Q = R_n \cdot e^{-r_n}$, which implies that $\lim_{n \to +\infty} \log R_n = \log Q$ and further,

$$\lim_{n \to +\infty} (R_n - Q) = 0 \quad \text{and} \quad \lim_{n \to +\infty} \frac{R_n - Q}{Q} = 0.$$

Remark. From the proof of Theorem 1 it follows that

$$\begin{split} F_a^{\prime\prime}(x) &= \sum_{k=0}^{+\infty} \left(\frac{1}{2(x+k)^2(x+k+1)^2} - \frac{1}{2(x+k+a)^4} \right) \\ &= \sum_{k=0}^{+\infty} \frac{(x+k)^3(4a-2) + (x+k)^2(6a^2-1) + 4a^3(x+k) + a^4}{2(x+k)^2(x+k+1)^2(x+k+a)^4}. \end{split}$$

From this expression we see that $F''_a(x) < 0$ for each $a \in (0, 1/2)$ and x large enough, therefore F_a is strictly concave on $x > x_a$, where x_a depends on $a \in (0, 1/2)$ and can be evaluated numerically. Consequently, we may apply presented methods to obtain further bounds for $Q(x, \beta)$ when x is large.

As a prototype of such results, we note that using the method of proof of Corollary 1, F_0 replaced by F_a for some $a \in (0, 1/2)$, we get the inequality

(16)
$$\frac{(x+\beta)^{x+\beta-1/2}}{x^{x-1/2}} \exp\left(-\beta + \frac{1}{12}(\Psi'(x+\beta+a) - \Psi'(x+a))\right) < Q(x,\beta),$$

where $a \in (0, 1/2)$ and $x > x_a$. Since $F''_a(x) > F''_0(x)$ for a < 1/2, it follows from the arguments similar to the proof of Theorem 3 (see also the proof of Theorem 2 in [11]) that on the domain $x > x_a$, the inequality (16) is sharper than the left inequality in (4).

A similar idea (sharper inequalities for large x) has been exploited in [8] for bounds for Q in terms of elementary functions.

3. Schur-convexity and further bounds for Q. Let F be a function of n arguments, defined on I^n , where I is an interval. We say that F is Schur-convex on I^n if

$$(17) F(x_1, \ldots, x_n) \le F(y_1, \ldots, y_n)$$

for each two *n*-tuples $x = (x_1, \ldots, x_n), y = (y_1, \ldots, y_n)$ in I^n , such that

(18)
$$\sum_{i=1}^{k} x_{[i]} \leq \sum_{i=1}^{k} y_{[i]}, \quad k = 1, \dots, n-1,$$
$$\sum_{i=1}^{n} x_{[i]} = \sum_{i=1}^{n} y_{[i]},$$

where $x_{[i]}$ denotes the *i*th largest component in x. If (18) holds, we say that x is majorized by y and write $x \prec y$. We say that F is strictly

Schur-convex on I if a strict inequality holds in (17) whenever $x \prec y$ and x is not a permutation of y. For n = 2, a function $(x_1, x_2) \mapsto F(x_1, x_2)$ is Schur-convex on I^2 if and only if

$$F(x_1, x_2) \leq F(x_1 - \varepsilon, x_2 + \varepsilon)$$

for each $(x_1,x_2) \in I^2$, $x_1 \le x_2$ and each $\varepsilon > 0$ such that $(x_1-\varepsilon,x_2+\varepsilon) \in I^2$

A function F is said to be (strictly) Schur-concave on I^n if the function -F is (strictly) Schur-convex on I^n .

For further details on Schur-convexity, see [10].

The results of this section are based on the following theorem.

Theorem 4. The function $(x,y) \mapsto F(x,y)$ defined by

(19)
$$F(x,y) = \frac{\log \Gamma(x) - \log \Gamma(y)}{x - y}, \quad x \neq y,$$
$$F(x,x) = \Psi(x)$$

is strictly Schur-concave on x > 0, y > 0.

Proof. Since F is a continuously differentiable function, by [10, Chapter 3.A], it suffices to show that

$$\left(\frac{\partial F}{\partial y} - \frac{\partial F}{\partial x}\right)(y - x) < 0 \quad \text{for all } x > 0, y > 0, x \neq y,$$

which is, in our case, equivalent to

(20)
$$\frac{\Psi(x) + \Psi(y)}{2} < \frac{\log \Gamma(y) - \log \Gamma(x)}{y - x}, \quad 0 < x < y.$$

For a fixed x > 0, let

$$\varphi(y) = \log \Gamma(y) - \log \Gamma(x) - (y - x) \frac{\Psi(y) + \Psi(x)}{2}, \quad y \ge x.$$

Then we have

$$\varphi'(y) = \Psi(y) - \frac{\Psi(y) + \Psi(x)}{2} - \frac{y - x}{2} \Psi'(y)$$
$$= \frac{y - x}{2} \left(\frac{\Psi(y) - \Psi(x)}{y - x} - \Psi'(y) \right).$$

By the mean value theorem, we have that $(\Psi(y)-\Psi(x))/(y-x)=\Psi'(c)$, for some $c\in(x,y)$. Since Ψ' is decreasing, then $\Psi'(c)>\Psi'(y)$ and it follows that $\varphi'(y)>0$ for all y>x. Therefore, $\varphi(y)>\varphi(x)=0$ and (20) is proved. \square

Corollary 3. For x > 0 and $\beta > 0$, we have

$$(21) \qquad \exp\left(\beta\frac{\Psi(x+\beta)+\Psi(x)}{2}\right) < Q(x,\beta) < \exp(\beta\Psi(x+\beta/2)).$$

Proof. The left inequality in (21) follows directly from (20) by replacing y with $x + \beta$. From

$$(x+\beta,x) \succ (x+\beta/2,x+\beta/2),$$

and Schur-convexity of the function F, we get the right inequality in (21). \Box

Theorem 5. (Comparison of inequalities). For $\beta \in (0,1)$ and $x > 1 - \beta$, the left inequality in (21) is sharper than the left inequality in (3), i.e.,

(22)
$$\frac{\Psi(x+\beta) + \Psi(x)}{2} > \Psi(x+\beta - 1 + \sqrt{1-\beta}).$$

Proof. Since Ψ is an increasing function, it suffices to show that

(23)
$$\frac{\Psi(x+\beta) + \Psi(x)}{2} > \Psi(x + \sqrt{1-\beta}), \quad x > 0, \beta > 0.$$

For a fixed x > 0, define

$$\varphi(\beta) = \Psi(x+\beta) + \Psi(x) - 2\Psi(x+\sqrt{1-\beta}).$$

Then $\varphi(0)=0,\ \varphi'(\beta)>0$ and therefore $\varphi(\beta)>0$ for $\beta>0$, which ends the proof. \qed

Let us note that, from Theorem 4, we can produce various inequalities for the ratio of gamma functions. For example, from

$$(y, x) \succ (y - \varepsilon, x + \varepsilon), \quad x < y, 0 < \varepsilon < (y - x)/2$$

we obtain

$$\left(\frac{\Gamma(y)}{\Gamma(x)}\right)^{1/(y-x)} < \left(\frac{\Gamma(y-\varepsilon)}{\Gamma(x+\varepsilon)}\right)^{1/(y-x-2\varepsilon)},$$

$$0 < x < y, \ 0 < \varepsilon < (y-x)/2.$$

4. Some inequalities for $Q(x + \lambda, \beta)/Q(x, \beta)$ and inequalities of Gurland's type. In this section we consider the ratio $Q(x + \lambda, \beta)/Q(x, \beta)$ for $\lambda \in (0, 1)$.

Theorem 6. Let $I = (a, +\infty)$, $a \ge 0$. If for $\beta > 0$ the function

(24)
$$F(x) = \frac{\Gamma(x)}{\Gamma(x+\beta)} \cdot G(x,\beta)$$

is strictly log-convex with respect to $x \in I$, then for any $\lambda \in (0,1)$ and $x > a + 1 - \lambda$ the following holds:

$$(25) \quad \left(\frac{x+\beta}{x}\right)^{\lambda} \frac{G(x+\lambda,\beta)}{G^{\lambda}(x+1,\beta)G^{1-\lambda}(x,\beta)} < \frac{Q(x+\lambda,\beta)}{Q(x,\beta)} < \left(\frac{x-1+\lambda+\beta}{x-1+\lambda}\right)^{\lambda} \frac{G^{\lambda}(x-1+\lambda,\beta)G^{1-\lambda}(x+\lambda,\beta)}{G(x-1+\lambda,\beta)}.$$

Proof. By Jensen's inequality applied to the function $x \mapsto \log F(x)$, we have that

$$F(x + \lambda) < F^{1-\lambda}(x)F^{\lambda}(x+1),$$

i.e.,

$$\frac{\Gamma(x+\lambda)}{\Gamma(x+\lambda+\beta)}G(x+\lambda,\beta)
< \frac{\Gamma^{1-\lambda}(x)\Gamma^{\lambda}(x+1)}{\Gamma^{1-\lambda}(x+\beta)\Gamma^{\lambda}(x+\beta+1)}G^{1-\lambda}(x,\beta)G^{\lambda}(x+1,\beta)
= \frac{\Gamma(x)}{\Gamma(x+\beta)} \left(\frac{x}{x+\beta}\right)^{\lambda} G^{1-\lambda}(x,\beta)G^{\lambda}(x+1,\beta),$$

and the left inequality in (25) is proved. The right inequality follows similarly from

$$F(x) < F^{\lambda}(x-1+\lambda)F^{1-\lambda}(x+\lambda).$$

In [2, 3] and [7], it is proved that several functions of the form (24) are completely monotone on x for each fixed $\beta \in (0,1)$. Since each completely monotone function is log-convex (see [4], for example), Theorem 6 can be applied with these functions. For example, by [3], the function

$$F(x) = \frac{\Gamma(x)}{\Gamma(x+\beta)} \exp(\beta \Psi(x+\beta/2))$$

is strictly log-convex on x > 0 for each $\beta \in (0,1)$ (in fact, the result in [3] is stated for $x > 1 - \beta$, but by an inspection of the proof it is easy to see that it holds for x > 0). For $x > 1 - \lambda$, Theorem 6 then yields

$$\left(\frac{x+\beta}{x}\right)^{\lambda} \exp\left(\beta\left(\Psi(x+\lambda+\beta/2) - \Psi(x+\beta/2) - \frac{\lambda}{x+\beta/2}\right)\right)
< \frac{Q(x+\lambda,\beta)}{Q(x,\beta)} < \left(\frac{x-1+\lambda+\beta}{x-1+\lambda}\right)^{\lambda}
\cdot \exp\left(\beta\left(\Psi(x+\lambda+\beta/2) - \frac{\lambda}{x-1+\lambda+\beta/2}\right)\right),$$

where the recurrence relation $\Psi(x+1) = \Psi(x) + 1/x$ was used.

In a special case when $\lambda = \beta$, we have that

$$\frac{Q(x+\lambda,\beta)}{Q(x,\beta)} = \frac{\Gamma(x+2\beta)\Gamma(x)}{\Gamma^2(x+\beta)}.$$

This ratio was investigated by Gurland [6] in 1956 and later by many authors, but it seems that bounds related to the digamma function have not been observed in the literature so far. Some bounds of this type can also be obtained from our Theorem 1. For example, from

Jensen's inequality applied to concave function F_0 , we find that

$$\frac{\Gamma(x+2\beta)\Gamma(x)}{\Gamma^{2}(x+\beta)} < \frac{x^{x-1/2}(x+2\beta)^{x+2\beta-1/2}}{(x+\beta)^{2x+2\beta-1}} \cdot \exp\left(\frac{1}{12}(\Psi'(x+2\beta) + \Psi'(x) - 2\Psi'(x+\beta))\right),$$

for x > 0 and $\beta \in (0,1)$.

REFERENCES

- 1. M. Abramowitz and I.A. Stegun, A handbook of mathematical functions, National Bureau of Standards, Washington, 1964.
 - 2. H. Alzer, Some gamma function inequalities, Math. Comp. 60 (1993), 337-346.
- 3. J. Bustoz and M.E.H. Ismail, On gamma function inequalities, Math. Comp. 47 (1986), 659-667.
- 4. A.M. Fink, Kolmogorov-Landau inequalities for monotone functions, J. Math. Anal. Appl. 90 (1982), 251-258.
- 5. W. Gautschi, Some elementary inequalities relating to the gamma and incomplete gamma function, J. Math. Phys. 38 (1959), 77–81.
- 6. J. Gurland, An inequality satisfied by the Gamma function, Skand. Aktuarietidiskr. 39 (1956), 171–172.
- 7. M.E.H. Ismail, L. Lorch and M.E. Muldoon, Completely monotonic functions associated with the Gamma function and its q-analogues, J. Math. Anal. Appl. 116 (1986), 1–9.
- 8. A. Laforgia, Further inequalities for the gamma function, Math. Comp. 42 (1984), 597-600.
- 9. D. Kershaw, Some extensions of W. Gautschi's inequalities for the gamma function, Math. Comp. 41 (1983), 607-611.
- 10. A. Marshall and I. Olkin, Inequalities: Theory of majorization and its applications, Academic Press, New York, 1979.
- 11. M. Merkle, Logarithmic convexity and inequalities for the gamma function, J. Math. Anal. Appl. 203 (1996), 369-380.
 - 12. D.S. Mitrinović, Analytic inequalities, Springer-Verlag, New York, 1970.

DEPARTMENT OF APPLIED MATHEMATICS, FACULTY OF ELECTRICAL ENGINEERING, P.O. Box 35-54, 11120 BELGRADE, YUGOSLAVIA